Nothing is too
wonderful to be true if
it be consistent with
the laws of nature,

and in such things as

these, experiment is

the best test of such
consistency.




The Limited Domain of Michael Faraday's Law of Induction merely applies to the Conservation of Energy.

Does Michael Faraday's Law of Induction concern itself with the conversion (consumption / conservation) of alternating (A/C) power or

with the generation of alternating power?

I think it is the former. The latter condition of the synthesis (generation) of power is a standing wave which cannot dissipate, ie. it cannot
exit the circuit as: heat, or light, or mechanical motion of a coil unless it is first converted. But for this conversion to occur, it can no longer
exhibit a standing wave pattern in which its phase of voltage and its phase of current are diametrically opposed in polarity (with 180° of
separation between them). Instead, in order for conversion to occur, it must realign the phase polarities of its voltage and current to exhibit a
maximum power factor to manifest, and maximize, the output of this conversion of power. Otherwise, the standing wave pattern will force a

constant build up of reactive power which will, eventually, destroy the circuit which hosts this condition.

Hence, Michael Faraday's Law of Induction is a narrow niche, for it merely defines the consumption of power while ignoring its

generation.

Energy is always moving, ie. undergoing changes, but standing waves of energy do not move. Their energy moves, yet their wave pattern

does not move.

It is only a moving wave pattern which can be conserved. Everybody is so focused on the conservation of energy while ignoring the non-

conservation of their standing waves. For, it is their patterns, not their energy, which defines the consumption or the generation of power.

Here is the data in the format of screenshots of the simulation of a circuit in Micro-Cap — which is a flavor of Berkeley SPICE authored

by Spectrum-Soft ( http://www.spectrum-soft.com/index.shtm ). You may download its simulation files from: https://ufile.io/6psos3xr
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125.00 : nodiodes2d2_ON.CIR :
5000 S S S —— S
000556 29.40 58.80 88.20 117.60
VIL3)I(L3)
125.00 :
5000, N T ——— S
000530 29.40 58.80 88.20 117.60
V(LA)I(L4)
150.00
60.00
0.0 0
90.00
45.00)-
1500550 20.40 58.80 88.20 117.60 147.00
V(LA)IL4)



125.00 . : nodiodes2d2_ON.CIR :
5000 . -
D_m11588_Dnnm,3_226E-38t"-"": ------------------------------ e S S e I
0.00 29.40 58.80 88.20 117.60 147.00
Left Right Delta Slope
BIV(L3)'{L3) 3.226E-38 80.811 80.811 561.145m
T (Secs) 588.000m 144.598 144.010 1.000
125.00 - ; : : ]
S —— 0 S S ——
.00l e 1
0.00 29.40 58.80 88.20 117.60 147.00
Left Right Delta Slope
L IV(L4)1(L4) 3.514E-38 99.039 99.039 687.723m
T (Secs) 588.000m 144.598 144.010 1.000
150.00- : : ]
L |-
0.00!! T : T T
0.00 29.40 58.80 88.20 117.60 147.00
Left Right Delta Slope
[ IV(L3){L3) 57.357 33.100 -24 257 -168.441m
T (Secs) 588.000m 144.598 144.010 1.000
90.00- : : : 1
45_ggﬁ_'ZZIIZZIIZZIIIZIIIZZIIZZIIZZ§IIZIIIZZIIZZIIZZIIIZIIIZIIIZZI;ZZZIIIZIIIZIIIZZIIZZIIZZIIIZIIEZZIIZZIIZ____'IIIZIIIZZIIZZIIi:ZIIIZIIIZZIIZZIIIZIIIZI&
15000 > — - T SR — _ I —— L
0.00 29.40 58.80 88.20 117.60 147.00
Left Right Delta Slope
[ IV(L4)(L4) 56.288 32.339 -23.949 -166.300m
T (Secs) 588.000m 144.598 144.010 1.000



A80.00m nodiodes2d? COMN.CIR

LTI N1 1011 SEREEEEEEREPEEEER e L
240,00 -----eemnmeeenn s O EECar RS bemns e ooeeenns e ooeeennn s, -
12000 - RS R REREEEEEEREEEES b e

0.00m ' ' ' '
-120.00m

0.00 28,40 £8.80 88.20 117 60 147.00
V(LI
300.00m

225 00 --enn-reennoe s L SRt
150,00 ---mmnmmeesmnnnmeeennnsoeas O EECar RS bemns e ooeeenns e oo
TEO0M - RS R REREEEEEEREEEES b e
0.00m ' : :
-75.00m

150.00 : : : :
TEOO L
0.00 § i i i
B Y 11| R S R EERREEEES b REEEEEEEEEE e W
T | e

-225.00 :

0.00 28,40 £8.80 88.20 117 60 147.00

1.00m
0.7am
0.50m
0.25m
0.00m
-0.25m

Q.00 28940 S8 .80 88.20 117 .60 147.00
WICE)YI(CRE)
Ti(Secs)



430.00m

nodiodes2d? OMN.CIR

120.00m
-120.00m 555 5640 5% 50 5800 117 60 147 00
Left Right Delta Slope
DU(L“]]I“I(L’]]I 1.361E-41 339 844m 339 844m 2353m
T [Secs) 164 614m 144 5958 144 433 1.000
200 .00m . : . l
ﬁmm_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIZ;IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII;:IIIIIIIIIIIIIIIIIIIIIIII'_ !
_?S'DDmU.UU 29.40 5580 5820 117 .60
Left Fight Delta
DU(LE)*I(LE) S 021E-43 188.477Tm 188 477Tm
T [Secs) 164 614m 144 598 144 433
150.00 : : : : I
[164.61d4m 1319838 R R S S
J75.00F - -ec-aeee e e e beoem s .- )
S — T TEEE TR formmmmeee oo fommmmmme s omee e 144,598 -202.051
) U000 2940 S8 A0 2820 11760 147 .00
Left Fight Delta Slope
EIV(C1I(C 1.310E-38 =202 051 -202.081 -1.399
T [Secs) 164 614m 144 598 144 433 1.000
1.00m - W MY _ _—_—_—_—_—_—_—_— _—_— _— —_—_—_— — — — — —_— — 4"
0_25”]f:::::::::::::::::::::::::::::EZ::::::::::::::::::::::::::::]i::::::::::::::::::%::::::::::::::::::::::::iC:::"_::_':::::::::{:
- - - - |
_0'25”10.00 2940 5880 2320 11760 147 .00
Left Fight Delta Slope
LIV(CB™I(CR) -1.387VE-38 0000 1.387TE-38 9 E01E-41
T [Secs) 164 614m 144 598 144 433 1.000



1000007 : , , :
750.00Tf---mnwemmmemmmeammeanneanees T
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0000t
150007

0.007T
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nodiodes2d?2 OMN.CIR

WICIIC3)

V(CEII(CS)

0.00 3040 53.80 83.20 117.60 147,

0.00 2640 58.80 5820 117 60 147,

0.00 2640 58.80 5820 117 60 147,

0.00 2940 5880 88.20 117.60 147,



nodiodes2d? OMN.CIR

1000.00T : : : :
T ———,————HLL e A i S A .- EHLE {144,598 610.762T
250.00T 7B 2077 4] renrnen s frorrenen e frorarerenn s rernennsene s 1
=] . . . j T
~25000T 5 7640 5560 5820 11760 147 00
Left Right Delta Slope
Blv(Carica) 2177E-24 610.762T 610.762T 42587
T (Secs) 1176 144 503 143 422 1.000
120E15n : : : :
3_DOE14:i_:::::::::::::::::EI::::::::::::::::::::::;:::::::::::::::::::::::%:::::::::::::::::::::;::::::::::::::é&
- 00R14 6 g 2040 5530 8520 117 60 147 00
Left Fight Delta Slope
CIWIC27IC2) 1 466E-25 7 936E14 7 936E14 5533E12
T (Secs) 1176 144 508 143 422 1.000
BO000T - : : : :
'l5D.DDT:§-:::::::::::::::::E::::::::::::::::::;::::::::::::::::E:::::::::::::::I:::::::::::::_- !
150007555 2640 5580 8320 117 60
Left Fight Delta
CIW(C4IC4) 0.000 401 5827 4015827
T (Secs) 1176 144 508 143 422
80000T— T T T —— -
D00 Q0T L \
-20000T 555 2040 5880 §5.20 117 60
Left Fight Delta
[JW(CEICS) 3 869E-24 518.805T 518.805T
1176 144 508 143 422

T [Secs)




Nodal Voltages for X1 subcircuit, macro (Micro-Cap).

NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N.RPL=2K,CPAR=1P,CARC=3P)

V1 R5
10

V(SWITCH,PIN2)"V(SWITCHCHK)

= =
E9 @ @ E4d HELP VTHRES "Voltage at which the spark-gap strikes”
HELP VARC "Voltage across the spark-gap once struck”
ABS(V(DVDT)) &~ "

HELP ISUS "Sustaining current under which the arc is stopped”
.HELP RNEG "Negative resistance once struck”

.HELP LPL "Lead/electrode inductance”

.HELP RPL "Lead/electrode resistance"

HELP CPAR "Gap capacitance”

.HELP CARC "Arc capacitance”




1.00

0.00

-1.00

30.00T

12.00T
0.00T

16.00

-32.00
-64.00

500.00n

200.00n
0.00n

15.00

5.00
0.00

nodiodes2d2_OM_X1.CIR
0.00 29.40 58.80 8820 117 B0 147,
0.00 29.40 58.80 88,20 117 B0 147
VO R2FICCT R2)

0.00 2940 53.80 88.20 117 60 147,
VEX1 R3TIK R3)

0.00 7340 53.50 17 60 a7
VX RATIH R4)

0.00 7940 58,60

VO A0 (V) —
2Cs

Node X1.10 tells us if this spark gap is ON if it equals ~10V. If ~10nV, then OFF.
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nodiodes2dZ_OM_X1.CIR

]
T e LU o
0.00 2940 5880 8820 117 B0 147 .00
Left Fight Delta Slope
LIV R R 0.000 0.000 0.000 IMF
T[5ecs) 144 929 144 929 0.000 1.000
SD'DOTIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIII::: 144,929 21 3827
D'DOTD_OD 2940 5880 8820 117 B0 147 .00
Left Fight Delta Slope
Elvix 1 R21IX1R2) 213827 213827 0.000 IMF
T (5ecs) 144 929 144 929 0.000 1.000
16.00 :
'64'000.00 2940 5880 117 B0 147 .00
Left Delta Slope
LIV R34 R3) 0.000 0.000 IMF
T (Secs) 144 929 0.000 1.000
S0000N T T T T i
LTIl IIIIIIIIIIIIIIIIIIniTIIIIIIIIiiiiiiiiiiiiiiiiia
D'DDHD.OD 2940 5880 8820 117 B0 147 .00
Left Fight Delta Slope
LIV RAT I R 5400n 5400n 0.000 IMF
T [5ecs) 144 929 144 929 0.000 1.000
15.00 - -
0.00 :
0.00 2940 5880 8820 117 B0 147 .00
Left Fight Delta Slope
CIWi1.100 (W) 9583 9583 0.000 IMF
T (5ecs) 144 929 144 929 0.000 1.000



240.00M

60.00mM
-60.00M

675.00M
450.00M

150.00mM
=75 .00

400.00m

100.00m
-100.00m

3.00m

0.75m
-0.75m

15.00

.00
0.00

nodiodes2dZ?_ON_X1.CIR

0.00 2640 58.80 5820 117 60 147,
0.00 2340 5380 58.20 117 60 147,
VX1 271K C2)
0.00 2640 58.80 117 60 147
VOO DI DY)
L A I ,
0.00 2340 5380 117 60 147
V01 D211 D2)
0.00 2940 5880 58,20 11760 747

WIRT. 101 (V)

00

00



nodiodes2dz_ON_x1.CIR

d000M————— T T T
'BU'DDMD.OO 2940 5880 85820 117 .60 147 .00

Left Fight Delta Slope

LIV SO .C 1) 2 144E-34 155 324 155 3240 10590

T [Secs) 294 000m 147 .000 146 706 1.000

6?5'0[:]“'1i::IZZIIZZIIIZIIIZZIIZZIIZZIIIEZIIIZZIIZZIIZZIIIZIIIZIIIZZIIf:::IIZIIIZIIIZZIIZZIIZZIIIZIII;ZIIZZIIZZIIIZIIIZIIIZZIIZZIIIEZIIIZIIIZZI|14?_DDDI455_9?1MI

HQQd.DDUmJ.ADBE—AEFZ333333:33333333333333333333333333333133333333333333333333333333333133333333333333333333333333331333333333 ________________ __:|

-7H 00ME

0.00 2940 5880 8820 117 .60 147 .00

Left Fight Delta Slope

Elv {1 .C2I31.C2) 1408E-42 465 97 1M 465 97 1M 3.176M

T [Secs) 294 000m 147 .000 146706 1.000

000, —mn — 00—

T i i i i ]
'mUBDmD_UU 2940 5880 _ 11760 147 .00

Left Fight Delta Slope

LIV DYDY 5707390 -8 T23E-41 -570 7390 -3.8900

T [Secs) 294 000m 147 000 146706 1.000

OO T T T

g:::::::::::::::::::::::::::::i:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::"_::_ '::::::::::::::::::::::::::::::::::::::::::::::::::::;
-O.T5m0.00 2940 52880 . 117 .60 147 .00

Left Fight Delta Slope

LIV D2)I(1.D2) 57073580 596 3030 125 5640 855 .891n

T [Secs) 294 000m 147000 146,706 1.000

15007 _____________________________ L T e e ey e L L L Ly Ty - _---- ]

g §]g] S EEEEEEEEEEE T EEEEE T T A e e ettt ettt ettt |
0.00 2940 5880 5820 11760 147 .00

Left Fight Delta Slope

L1100 (%) 10.000n 9829 9829 67 .000m

T [Secs) 294 000m 147 000 146706 1.000



4 00E-18
200E-18
0.00E0D
-2 00E-18
-4 00E-18
-6.00E-18

nodiodes2dZ_OM_X1.CIR

0.00 29.40 58 .80 8820 117 60 147 00
VOULPICALL T

6.00m
4.00m
2.00m
0.00m
-2.00m
-4.00m

0.00 2940 55 80 8820 117 60 147 .00
(X101 (A)
12 .50m T : T T
] N
et [ S A T
5 QO e e - —_—_— e e -
DEOML :

U.00m55g 2940 5380 538.20 T17 .60
VO GV G1)

15.00

R 2 B I

-------------------------------------------------------------------------------------------------------------------------------------------------

O'ODU_UU 2940 58.80 8820

W10 V)

147.00



nodiodes2dZ_OMN_X1.CIR

4 00E-158 !
DO0E G, - . T — - l
'B'ODE'180.DD 2940 58.80 117 B0 147 00
Left Right Cielta Slope
LIV LOCT.L 1) 1 TEEE-18 0.000E0D -1 7T86E-18 -3 099E-20
T {Secs) 89363 147 000 57632 1000
5.00m : : o :
ocoom)}rr-—1"8 . 7% \
'4'00m0_00 2940 58.80 8520 117 B0 147 00
Left Right Delta Slope
LI V1) (A) -4 924y -3 2638m -3.263m 566120
TiSecs) 80363 147 000 57632 1.000
1250m _____________ 147 000.8.765m
5_00mIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII;Zi_IIIIIIIIIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIIIIIII'_
""""""""""""""" e S (== = = L L0471 R S
D'DomD.DD 2940 58.80 8220 117 B0 147 00
Left Fight Delta Slope
Bl G116 1) 10.782p 9.765m 9.765m 169 4380
TiSecs) 80363 147 000 57632 1.000
w7 —————— —
T ! S { Sttt A W S eSS
0.00 ' - —
0.00 2940 5880 8220 147 00
Left Fight Slope
LIV 1.10) (V) 10.000n 9.939 9.999 173.505m
TiSecs) 80363 147 000 57632 1.000



Nodal Voltages for X2 subcircuit, macro (Micro-Cap).

NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N.RPL=2K,CPAR=1P,CARC=3P)

R5
in1 afvitchchk 10
-] 953 c3 J_
R2 c1
10Meg Cpar
in2
-4 953
R4
1610 gyitch
" 055
=z
G1

V(SWITCH,PIN2)"V(SWITCHCHK)

= =
E9 @ E4d HELP VTHRES "Voltage at which the spark-gap strikes”
~ HELP VARC "Voltage across the spark-gap once struck”
ABS(V(DVDT)) o~ HELP ISUS "Sustaining current under which the arc is stopped”
- - .HELP RNEG "Negative resistance once struck”
.HELP LPL "Lead/electrode inductance”
.HELP RPL "Lead/electrode resistance"
HELP CPAR "Gap capacitance”
.HELP CARC "Arc capacitance”




3 50E.25 podlodeSZdZ_ON_}{Q.CIR:
1.DDE-25::::::::::::::::::::::::::::::::::1::::::::::::::::::é::::_-:-:_::::::::::r:::::::::::::::
U.00ED0 553 2640 58.80 3820 117 60 47,
VX2 RITIG R
25.00T :
'lD.DDT::::::::::::::::::i::::::::::::::::15::::::::::::::::::§:::::::::::::::::fr:::::::::::::::_- )
000T55g 2340 58.80 88,20 T17 60 147,
VX2 R4 R2)
50.00M :
—“1UU.UDM:::::::::::::::::::::::::::::::::1:::::::::::::::%:::: R A
-200.00M 355 3040 53.80 83.20 117.60 147,
VX2 R3TIX2 R3)
20.00U
8.000
0.00uEEs 7540 5580 5600 T17.60 47,
VX2 RATIHZ RA)
e ——— —_— S —
6.00331133113311131113311331133113311133113311331113111311133113;31131113111331133133113111§3113/?1331131113111331133111?1113111331133113113113313
0.00 : :
0.00 2040 5380 58.20 117.60 147

V(2,10 (V)

Qo

Qo

Qo



nodiodes2dZ?_ON_X2 CIR

2B 0iooooooDomo0o0——0—0""""""(— 00— 00—
[ oIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIiiii DIl T llIIIIIIIIiIIIIIIIIIIIIiIiIiiiiiN
D'DDEDDD.OD 2940 5880 22.20 117 .60 147 00
Left Fight Delta Slope
LIWH2 R1FIEHZ R 0.000EDD 0.000EDD 0.000EDD NF
T (Secs) 144 929 144 929 0.000 1.000
25'DDTIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIII:IIIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIiIIIIIIIIIIIIIIIIIIIIIIIIIIIII:’IIIIIIIIIIII: 1‘14.929,18.932T
D'DDTD_OO 2940 5380 2320
Left Fight
Blv(X2 R2FI(X2 R2) 18.932T 18.932T
T (Secs) 144 929 144 929
S0.00m : : :
[ oIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII: I IIIIIIIIIIIIIIIIIIIITIIIIIIIIN I IIIIIiIIIInTIIIIIIIIIIIIIIIIIIIIIIIIIND
'QOO'DDMD.UO 2940 58.80 85.20
Left Fight
LIV (2 R31IX2 R3) 0.000 0.000
T (Secs) 144 929 144 929
s L 500 A I
::::::::::::::::::::::::::::::;:::::::::::::::::::::::::::::q:::::::::::::::::::::::::::::;:::::::::::::::::::::::::::::;::::::::::::::::::::::::::J]'z
000y ——— —_— — -
0.00 2940 5880 22.20 117 .60 147 00
Left Fight Celta Slope
L2 RAFIH2 R 0.000 0.000 0.000 NF
T (Secs) 144 929 144 929 0.000 1.000
1o ey T
0 UOEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE:EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE}EEE;Z'EEEEEEEEEEEEEEEEEEEEEEE?EEEEEEEEEEEEEEEEEEEEEEEE::jz:
000 2940 5380 25.20 117 B0 147 00
Left Fight Delta Slope
LIV042.10) (V) 9702 9702 0.000 MF

T (5ecs) 144.929 144 929 0.000 1.000



75000 r:'IOdIOdGSZdQ_ON_}{Q.CIR’:
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The following figures demonstrates how power is generated most of the time. Only occasionally does it react in the opposite (positive)

direction to absorb, convert, and get rid of, this excess energy by spiking in the positive polarity once in a while.

So, causality has not been broken if we examine all of the components of a circuit over the entire duration of its run-time!
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Why do we ignore “free energy?”
Because we are too preoccupied with energy while ignoring wave patterns.

The generation of energy is distinguished by a wave pattern called: a standing wave. These types of waves are rarely studied. They are

the heart and soul of “free energy.”

A battery is an example of the conversion of the chemical energy which is stored inside of itself into electrical energy which exits its

positive and negative terminals. Hence, it cannot generate energy; it merely converts energy from one format into another format.

The consumption of energy occurs whenever energy is being converted into another format, such as: electrical energy feeding a light
bulb is converted into light and is distinguished by a wave pattern which moves. Hence, the battery and the light bulb inside of a flashlight
circuit are not designed with the intention to generate power since that would give its owner a certain degree of freedom from having to

purchase anymore power if he can generate his own power which he can't generate with a battery and a light bulb.

Yet, the arrangement of various electronic components (such as: capacitors and coils of wire, etc.) can sometimes generate power. And
simple resistors, such as: heating elements, can convert the generation of this standing, electrical wave energy into useful heat energy and

boil water to run a steam locomotive, or replace nuclear power at an electric power plant.

Energy always moves. Wave patterns move if they are merely consuming and converting power. Standing wave patterns do not move

even though their energy is moving.

This is a very significant distinction we have been overlooking all this time arguing the pros and cons of free energy: is it a sham, or is it

for real?

The theoretical evidence speaks for itself. Simulators are not the last word on this subject. Yet, they cannot be swept aside as rubbish, for

that would deny their utilization by electrical engineers orchestrating the design for their new projects.

Hint...To interpret these slides requires looking at the polarity of sign for the value of each component. So, if a resistor possesses a

negative sign out in front of its value for power, then this component is generating power and is a useless standing wave. On the other hand,



if a component possesses a positive polarity (indicated by the absence of any symbol for its sign), then that component is converting power

into heat, or light, or the motion of a coil in an electric motor and must obey the laws of thermodynamics as they relate to conservation.

But the generation of power does not obey the law of the conservation of energy, because the generation of power is a standing wave. Its
energy — inside of that wave pattern — conforms to the conservation of energy, but its standing wave pattern does not, because a pattern — in

and of itself — is just a piece of information entertained by our mind. It does not exist in the concrete world of reality.
Yet we need these distinctions to help us to organize our thoughts on this subject.
So, from where does the extra energy come from whenever a standing wave clones itself? I don't know...

Some people have claimed that inventors who operate their “free energy” devices nearby any utility grid are stealing energy from that
grid. That happened to C. Earl Ammann when he set foot within the jurisdiction of Washington, D.C., 100 years ago (in 1921) to deliver to
the United States Patent Office his electric car powered by his invention devoid of the use of any batteries. He was promptly arrested before

he could ever deliver his invention to the Patent Office on the grounds of his, “stealing energy from the grid.”
I think it was a bogus charge.

I think he was disrupting the utility grid located at the perimeter of his influence while supplying energy to the people located well within
the diameter of his power supply's range of influence which was several miles mostly covering downtown Denver, Colorado, where he and

his brother conducted their demonstration.

I asked the following question to the good people over at Stack Exchange ( https://is.gd/ugijif ) ...[archived — https://is.gd/ejikir ]
Does the Conservation of Energy pertain to the electrical energy within all wave patterns (regardless of their form or function), but does not

pertain to the wave pattern, itself? In other words...

Does the Conservation of Energy restrict its domain to electrical wave patterns which merely convert one form of energy into another



form of energy, such as: batteries and incandescent light bulbs?

And does the Conservation of Energy not apply to electrical wave patterns, such as: standing electrical waves whose phase of current is

inverted relative to their phase of voltage by 180 degrees of separation?

For, I see a distinct pattern emerging in which electronic components, such as: batteries and resistive loads (such as: light bulbs) exhibit
wave form patterns which are indicative of the consumption of energy due to the property that their wave forms move. This is indicative of
energy moving (which is undergoing conversion) from one domain into another domain. Yet, is this contrary to the behavior of standing
wave patterns, whose patterns do not move, despite the energy which is inside of standing wave patterns does allow for the movement of

energy inside of their rigid wave pattern?

Hence, light bulbs exhibit their beneficial outcome of making electrical energy useful by converting it into light and radiate this
outwardly, or else batteries make the chemical energy stored within themselves useful by converting this energy into electrical energy to
power a light bulb. So, it makes sense that this conversion process must conform to a sensibility of conservation since no new energy is

being produced.

But, does this explain the behavior of all electrical wave patterns? What about standing waves? Their energy is conserved, but is their

wave pattern capable of cloning itself?
And what is the consequence of this ability to clone itself?

Must these wave-types steal energy from their environment in order to fulfill their function of endlessly making carbon copies of their
wave forms? Is this what, so-called, “free energy” amounts to...is to find a source of energy exterior to a circuit from which to steal in order

to succeed at cloning its standing wave form?

Or, is there another source from which to “steal” so-called “free energy,” namely: the future of the energy which resides inside of a
standing wave? In other words, is electrical energy capable of reversing its own time-domain whenever this type of standing electrical wave

encases electrical energy?

This question pertains merely to those types of standing waves which possess a phase separation of one-half cycle of oscillations



between the current phase and the voltage phase components of an electrical wave of energy (to distinguish this usage of the term, “standing

wave,” from other types of standing waves).

Yes, a wave pattern existing as a calculated quantity. That's what I intend to imply. And two different types of waves categorizing
(organizing) wave behavior into two broad groups of the consumption and conversion and, thus, the diminishment of their electrically,
energetic waveform (which moves its position in space) versus their amplification of power due to their electrical, standing wave pattern
which does not move around in space, yet may be moving around in time resulting in their amplification instead of dissipation? And from
where does this extra energy come from: their future position in space (should their two phases of current and voltage be brought back

together)?

“Amplification instead of dissipation” reflects the reversal of current as a property which is oriented by pointing itself away from areas

of higher voltage and points its orientation towards areas of lower voltage accentuating their voltage differences rather than equalizing them
(negentropy).
Please replace all instances of the word, “pseudoscience”, with the phrase of “the virtual reality of electronic simulators derived from the

Berkeley SPICE model,” specifically: Micro-Cap by Spectrum-Soft.

So, I must assume that the use of the term of, “pseudoscience,” implies that there is no scientific answer to this question? Okay. I

understand and appreciate your comments.

The following three images are relevant to my text. But Amazon altered their rules for publishing paperback books increasing the

minimum number of pages from 24 to 72. So, I went online and gathered up 40 free clipart images to pad out my submission.

The first of these three images is a scanned newspaper article dated 28 August 1921. The second image is the original photograph used in

this article. And the third image is a portrait of Michael Faraday. Enjoy!
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